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1)  Give two possible answers to this sum. 
 
 
 
 
 
 
 
 

                           +          +          = 450 
 
 
 
 
 
 
 
 
 

                           +          +          = 450 
 

 

2)  Write in the missing numbers. 
 
 

                          ×  12  = 240 
 
 
 
 
 
 
 
 

                          ×   3  = 33 
 

                  16    ×   4  =  
 
 
 

 

                  45    ÷           = 5 
 
3)  What are missing digits? Write one in each box. 
 

                                       ÷  10 = 28 
 
 

560  ÷           =  56 
 
4)  Say what the missing numbers might be. 
 

            ×         =  64 
 

 

 

 

 

 



 
Year 6 Booster pg 6 answers                                       

Free resources from Mathsblog in association with www.mathsgogogo.co.uk    © Mathsgogogo 
 
1. Any three numbers that total 450 (twice)       

 

2. 20,    11,    64,    9      

   

3. 280,    10        

 

4. 1 × 64  or  2 × 32  or  4 × 16  or   8 × 8 

 

 

 

 

 


